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CEext
.globl main
main:
#ask for a number
addi swa, jzero, 51 #load the syscall id into w0
la a0, nsg #la - load the address of the string
zyscall
add a0, zal, SEero #copy the return valus int s0
#ask for a number
addi gvd, fzero, Al
la zal, ms e
syscall
add 5=2l, zal, SZero #copy the retwrn rvalue int sl
#rall the sum functional
add a0, =0, §Zero #zset up the first parameter
add gal, §s3l, SZELo #set up the second parameter
jal sUm #call the method
add 582, swi0, SEero #copy the return value into a variable
#print the result
addi gvd, §zZero, a6
la zal, msl the string argument
add fal, $s82, §Zero #prep the int argument
zyzcall #0all the MessageDialogInt system call
#exit
addi gv0, fzero, 10 .dapa
syscall .allgp D"
BEC .asciiz "Enter a number."”

maga: .ageiiz "The zum iz: ™
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| - - - = N = - =
#allocate memory on the stack for the variable we use
#save the saved registers we will use: fp, ra, s0, s1, 82, s
O -
addi gsp, §sp, -24

sw sfp, 20(5sp)|

sw fra, 16 ($sp)

sw $s0, 12($sp) * 'k‘ <

Sw §sl, 8($sp) P..\ N Q (el

sW §s2, 4(5sp) QC\Q
=1 $331 015313]

i A For tha Fp -
#WOA1ILYy Cihe Irdame polnc

addi Ssfp, ¢sp, 20

L)

¢

43






#make 50 the smaller of a0 and al
# 1f(a0 <« al){

S 80 = a0;
# sl = al;
# !
# else {
= 80 = al;
# sl = al;
# |
#make s1 the larger
sltc sto, a0, sal #set t0 to 1 if a0 < al
beq $t0, §zero, else
add $s0, jzero, a0
add §sl, gzero, %al
| endif
else:
add $s0, §zero, $al
add §sl, gzero, &al
endif:
#perform the calculation (loop from one to the other)
#for(s2 = 30; 32 <= 31; 32++)
# 83 =383+ 82;
add §s32, Szero, &s0
add $83, $Zero, $zZero #3373 = 0
comp: addi stcl, §sl, 1
slt gto, §8Z, stl #icheck 1f 82 <= 51
beq sto, §zero end #1f not fall out of the loop
add §s3, §s3, §s82
addi §s2, §s2, 1
J comp

end:



#put the return value in v0

add §v0, §s83, §Zero
#restore the saved registers
lw $Ep, 20(5sp)

lw fra, lE(§sp)

lw §s0, 12(%sp)

lw §sl, B(ssp)

lw §s2, 4(5sp)

lw §s3, 0($sp)

#pop the stack frame

addi gsp, §sp, -24
#retwrn to the caller's address
jr fra
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